VOSS

e
(AT RER LA
EDEEN)

= BT REAEELNMRAEEE (DS) s d6 .

" BFENRENHRLTLE (DM ) i DM [

< —7 < 4—‘
d2 ds d6 h =N kg/100 THS B

R4

M8 x 1 8.1 12 2.5 DS 0.1 0080692100 GP-SR-M8B-H2,5
M10x 1 101 14 2.5 DS 0.1 0080702100 GP-SR-M10B-H2,5
M12x1.5 1241 17 3 DS 0.2 0080712100 GP-SR-M12B-H3
M14x1.5 144 19 3 DS 0.2 0080722100 GP-SR-M14B-H3
M16x1.5 16.1 21 3 DS 0.3 0080732100 GP-SR-M16B-H3
M18x1.5 181 23 3 B8] 0.3 0080742100 GP-SR-M18B-H3
M20x 1.5 20.1 25 3 DS 0.3 0080752100 GP-SR-M20B-H3
M22x1.5 221 27 4.5 DS 0.6 0080142100 GP-SR-M22B-H4,5
M26 x 1.5 26.15 31 3.5 DS 0.5 0080772100 GP-SR-M26B-H3,5
M27 x 2 27.15 32 3.5 DS 0.5 0080782100 GP-SR-M27B-H3,5
M 33 x 2 33.15 39 3.5 DS 0.7 0080792100 GP-SR-M33B-H3,5
M 42 x2 4215 49 3.5 DS 1.0 0080802100 GP-SR-M42B-H3,5
M 48 x 2 48.15 55 35 D) 12 0080812100 GP-SR-M48B-H3,5
G1/8A 9.8 14 2.5 DS 0.1 0080822100 GP-SR-G1/8B-H3,5
G1/4A 5.8 1.2 4.6 DM 0.2 0080562100 GP-SR-IG1/4B-H4,6
G1/4 A 138.8 18 3 DS 0.2 0080832100 GP-SR-G1/4B-H3
G3/8A 16.8 22 3 DS 0.3 0080842100 GP-SR-G3/8B-H3
G1/2A 11 18.3 52 DM 0.6 0080582100 GP-SR-IG1/2B-H5,2-C21
G1/2A 211 26 4.5 DS 0.5 0080852100 GP-SR-G1/2B-H4,5
G 3/4 A 26.6 32 3.5 DS 0.6 0080862100 GP-SR-G8/4B-H3,5
G1A 33.4 39 3.5 DS 0.7 0080872100 GP-SR-G1B-H3,5
G11/4A 42.1 49 3.5 DS 1.0 0080882100 GP-SR-G11/4B-H3,5
G11/2A 48 55 3.5 D) 1.2 0080892100 GP-SR-G11/2B-H3,5

KRB -
DKA10X

L o



